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Industrialization



How might small farmers of the agricultural revolution be 
compared to the working class of the Industrial Revolution?

Some small farmers of the agricultural 
revolution might be compared to the working 
class of the Industrial Revolution by saying that 
the Industrial workers primarily worked with 
machinery and unfortunately worked longer 
and harder hours.



What impact did technological advances have 
on the Industrial Revolution?

 Some technological advances impacted 
the Industrial Revolution by allowing a 
faster production of goods that were 
better than before. This allowed a better 
economy of industrialized countries and 
created more wealth.



What was a benefit of the railroad in Britain 
during the Industrial Age?

The benefit of the railroad in Britain is 
that it allowed products to be shipped and 
transported faster and was the best and 
cheapest type of transportation. 



What were some (social /economic) aspects of 
industrialization?

Social aspects of industrialization is that it 
allowed trade and improvement in 
communications of countries.

Some economic aspects of industrialization 
is that it improved economies and helped the 
wealth of many separate nations.



How did the impact of worldwide industrialization effect 
the relationships between industrialized nations and 
nonindustrialized nations?

Industrialized nations- Had more wealth and 
power and typically claimed nonindustrialized 
nations as their “colonies”

Nonindustrialized nations- was not updated on 
the most recent technology and lacked the 
wealth but was used for resources. 



How did the philosophy of laissez-faire 
economics influence early industrialists? 

Laissez-Faire stated that the government had 
no power or control over the factories. This 
influenced early industrialists by setting up 
their own rules.



What is the relationship between socialism and 
communism ?

The relationship between communism and 
socialism is that they were both systems 
based on public ownership and work



Imperialism



What was the main purpose of the Berlin 
Conference of 1884-1885?

To divide Africa between the European 
countries in order to not fight amongst 
themselves for land. However, no African 
representative attended this meeting with 
the 14 countries.



What happened as a result of the Sepoy Mutiny 
in India ?

Due to the Sepoy Mutiny in India Great 
Britain was able to take full control over the 
entire country.



Why did Western nations desire to expand their 
lands in the Pacific Rim?

Europe needed resources for their 
industrialized country and they had already 
conquered Africa. Also in the Pacific, 
especially India, it was considered to be the 
jewel in the crown.



How did indirect control management method compare to 
direct control during the Age of Imperialism?

Direct- You were controlling the land and in 
charge of the people and things occurring there.

Indirect- You have the Native leader or 
representatives give the orders but they 
respond to you.



Why was India called the “jewel in the crown” 
by the British Empire?

India was referred to as the “jewel in the 
crown” due to it being the most valuable 
British colony.



What happened as a result of the Berlin 
Conference of 1884-1885?

The result of the Berlin Conference was 
that Africa was divided. However, it was unfair 
because no African representative attended and 
it created chaos and separated the African 
natives and tribes.



What was the main cause of inadequate food supplies in 
Africa during European colonization?

The main cause of inadequate food 
supplies in Africa during European colonization 
is that they were forced to constantly grow cash 
crop. They did not have time to grow or tend to 
their own food so many starved.



World War 1



What event ignited in Sarajevo the Great War?

The event in Sarajevo that ignited the Great 
War was the murder of Archduke Franz 
Ferdinand who was the heir to the Austro-
Hungarian throne.



What is the most probable link between 
militarism and imperialism?

The most probable link between militarism 
and imperialism is that as a country gains its 
colonies it needs the military power to protect 
them.



What was trench warfare intended to 
accomplish?

Trench warfare was intended to accomplish 
the enemy line going through no man’s land, 
protect soldiers, and trap enemies.



How did the Allies respond to Wilson’s vision 
for peace?

The Allies responded to Wilson’s vision for 
peace by ignoring most of his plans. They 
only wanted revenge on Germany and did 
not see or understand the big picture.



What was significant in the Allied victory at the 
First Battle of the Marne?

The significant part of the victory of the 
Allies at the First Battle of Marne is that they 
had saved Paris and stopped Germany’s plan 
to take France.



What did the policy of unrestricted submarine 
warfare refer to during World War 1?

The policy of unrestricted submarine warfare 
during World War 1 referred to the ability of 
Germany being allowed to blow Allies ships up 
and be in the water without warning.



How did the Treaty of Versailles affect post-
World War 1 Germany?

The treaty of Versailles affected Germany 
badly because they were held solely responsible 
for World War 1 and because of that the were 
sent into dept.



What were Woodrow Wilson’s Fourteen Points?

Woodrow Wilson, President of the United 
States, created guidelines for the future plans of 
world peace. Part of his “Fourteen Points” is the 
League of Nations.



What does a war become once the participating countries 
began devoting all of their resources to the war effort?

After all countries during a war devote all of 
their resources it is referred to as a “total war”.



World War 2



What was the Allies’ plan for victory over the 
Nazis?

Just like World War 1 the Allies hope was to 
force Germany to fight on two fronts.



Why were thousands of U.S. citizens put in internment 
camp during the war?

 Thousands of U.S. citizens were put into 
internment camp during the war because the 
had Japanese ancestry. Japanese-Americans 
were accused of being spies and were 
unrightfully accused after the Pearl Harbor 
bombing. 



Why did Truman agree to use the atomic 
bomb?

Truman agreed to use the atomic bomb to 
end the war early. He said he wanted to stop 
any more deaths and that was the quickest 
way to win the war.



What were some reasons for the high number 
of displaced persons after World War 2?

After World War 2 there were a high number 
of displaced persons due to cities being 
destroyed so they were forced to move to 
other places in order to have jobs, homes, 
and protection.



What prompted Great Britain and France to declare war on 
Germany at the start of World War 2?

Great Britain and France were finally forced 
to declare war on Germany because 
Germany invaded their ally, Poland.



What was addressed by the Nuremberg Trials?

The Nuremberg trials addressed the 
crimes against humanity that the Nazi 
officials were convicted of. Many of the 
higher ranked officials were not convicted 
having committed suicide.



Genocide



How were the Holocaust and Hitler’s “Final 
Solution” related?

The Holocaust and Hitler’s “Final 
Solution” were related because the Holocaust 
was his final solution. Hitler wanted to 
create a secluded area to kill the Jews as 
quickly as possible and these killing are now 
referred as the Holocaust.



Which group in Rwanda did the Belgians think was 
superior thus giving them power to rule in Rwanda?

 The Belgians though that the Tutsi were 
the more superior group and put them in 
charge with higher authority jobs. Once the 
Belgians left South Africa the Hutus got 
power and took revenge on the Tutsi.



What were some warning signs that genocide was going to 
take place in Rwanda in the 1990’s?

Some warning signs that genocide was 
taking place in Rwanda was dehumanization by 
calling the Tutsi cockroaches, classification by 
making sure to separate the clothing each war, 
and even preparation to start killing the Tutsi.



What were some of the impacts on post-
genocide Rwanda?

Some of the impacts on post-genocide 
Rwanda is the trials that took place. However, 
they could not keep up with many of these trials 
and often times the same Hutus who killed 
relatives of a Tutsi lived together. Also, many 
family members could not be found.



How did Rwanda deal with the crime against 
humanity after the genocide?

Rwanda itself could not do much due to the 
fact that there were so many people that were 
guilty. Many were put on chargers and tried for 
their crimes except not all could be.



Identify and describe the stages of genocide

classification- “us” vs. “them”
symbolization- to have a form of differentiation or symbol
dehumanization- to deny the humanity of a group
organization- to organize mass killings
polarization- to drive groups apart
preparation- deaths lists are being drawn up
extermination- the official killings legally now called “genocide”
denial- after the genocide is the denying of the guilty group to have done 
anything. They typically try to “cover-up” their crimes.



Apartheid



Where does the word “apartheid” come and 
mean ?

The word apartheid means separateness and 
is a policy of segregation. This word originated 
from the Dutch word “apart” meaning separate 
and “heid” referring to the Dutch/Afrikaans. 



What were some of the apartheid laws of South 
Africa?

Some apartheid laws included the 
prohibition of mixed marriages, required a race 
classification forcing people to carry 
“passports”, and created segregated areas that 
people were forced into. 



From 1970-1980 the South African government saw an 
increase in anti-apartheid protests and acts of sabotage. 
How did the government react?

The government reacted by harassing and 
abusing the citizens of South Africa. The police 
took up arms and beat many citizens and 
imprisoned all leaders of South Africa under 
insufficient terms. 



What type of sanctions did the International Community 
and African nations impose upon South Africa during the 
Apartheid during the 1960’s?

Some sanctions the International 
Community imposed during the 1960’s were 
South Africa’s inability to participate in the 
Olympics. Also they halted economic, military, 
and diplomatic relations with South Africa.


